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3HQHOLWLDQ� LQL� EHUWXMXDQ�XQWXN�PHQJDQDOLVLV�SHQJDUXK� LNOLP� RUJDQLVDVL�GDQ�NHSXDVDQ�
NHUMD� WHUKDGDS� NRPLWPHQ� RUJDQLVDVLRQDO� SDGD� UXPDK� VDNLW� EKD\DQJNDUD� SDGDQJ�� -HQLV�
SHQHOLWLDQ� LQL� WHUJRORQJ� SHQHOLWLDQ� GHVNULSWLI� NDXVDWLI� \DLWX� VXDWX� SHQHOLWLDQ� \DQJ� EHUWXMXDQ�
XQWXN�PHOLKDW� VHEHUDSD� MDXK� YDULDEHO� EHEDV�PHPSHQJDUXKL� YDULDEHO� WHULNDW��3RSXODVL� GDODP�
SHQHOLWLDQ� LQL� DGDODK� NDU\DZDQ� NRQWUDN� EDJLDQ� SDUDPHGLV� GL� 5XPDK� 6DNLW� %KD\DQJNDUD�
3DGDQJ� 7HNQLN�SHQQJDPELODQ�VDPSHO�DGDODK�WHNQLN� WRWDO�VDPSOLQJ GHQJDQ�VDPSHO�VHEDQ\DN�
���RUDQJ��0HWRGH�DQDOLVLV�\DQJ�GLJXQDNDQ�DGDODK�PHWRGH�UHJUHVL� OLQHDU�EHUJDQGD��3HQJXMLDQ�
DQDOLVLV�GHQJDQ�PHQJJXQDNDQ�6366�YHUVL�������

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� GDSDW� GLVLPSXONDQ� EDKZD� ���� ,NOLP� 2UJDQLVDVL�
EHUSHQJDUXK� SRVLWLI� GDQ� VLJQLILNDQ� WHUKDGDS� NRPLWPHQ� RUJDQLVDVLRQDO� NDU\DZDQ� NRQWUDN�
EDJLDQ� SDUDPHGLV� 5XPDK� 6DNLW� %KD\DQJNDUD� 3DGDQJ�� ���� .HSXDVDQ� .HUMD� %HUSHQJDUXK�
3RVLWLI� 'DQ� VLJQLILNDQ� WHUKDGDS� .RPLWPHQ� 2UJDQLVDVLRQDO� 3DGD� .DU\DZDQ� NRQWUDN� EDJLDQ�
SDUDPHGLV�5XPDK�6DNLW�%KD\DQJNDUD�3DGDQJ�
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